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What Happened to the Guy Who Lost the Pie-Eating Contest?
Write the expreeelon In factored form. Find your answer below and croee out the letter pair next to It. For each
letter pair that you DON'T croee out, write the upper caee letter In the box containing the lower caee letter.

4. w2 + 13w - 301. n2 + 7n + 12

lID(w+SXw-6)
,,(w +IXw +18)
_(w-3Xw+l0)

CII!J(w-2Xw+lS)
am (w + 3Xw + 6)

2.. n2 - 9n + 14 5. w2 - W - 30

3. n2 + 4n -12 6. w2 + 19w + 18,

_(n-2Xn+7)
am(n+3Xn+4)
l!ID(n - 2Xn + 6)
caJ(n-2Xn-6)
GID(n-2Xn-7)

1. p2 + Sp -14

B. p2 - 21P + 20

9.p2_8p-20

lID (p + 2Xp -10)
_(p - 2Xp +10)

IID(p - 2Xp + 7)
lIm(p -IXp -20)
_(p - 2Xp -7)

10. x2 + txy + 10y2

11. x2 + 4xy - 32y2

12.. x2 - llxy + 10y2

•• (x - 2yXx + Sy)

rEI (x - 4yXx + 8y)
_ (x - 2yXx + 16y)

BID (x - yXx - 10y)
GIll (x + 2yXx + 5y)

13. u2 + 3u - 70 16. c? + 16e + 48

11. c? + 2e - 48

lB. c? - 19e + 48

14. u2 - 33u - 70

15. u2 + 14u +13

19. m2 + 25m + 100

2.0. m2 - 15m - 100

2.1. m2 + ISm -100

2.2.. a2 + 4ab - 21if

2.3. a2 + 17ab + 72if

2.4. a2 -18ab - 40if

GIlD (u + 2Xu - 35) lID (e - 3Xe -16)
IID(u-7Xu+10) fE(e-3Xe+16)
_(u-lXu+13) _(e-6Xe+8)
11II (u + lXu + 13) •• (e + 4Xe + 12)
lID (u + 7Xu -10) am (e + 6Xe- 8)

~~a~_b __ C d e~_f~g~_h~_i~j k l~m n o p~_q~r~_s~_t~u~~

lID (m + 5Xm - 20)
_ (m - 5Xm - 20)

11II (m + 5Xm + 20)
am (m - 5Xm + 20)
lID (m + 10Xm- 10)

_ (a - 4bXa + lOb)
•• (a - 3bXa + 7b)
•• (a - 3bXa + 20b)
•• (a + 2bXa - 20b)
ID (a + 8bXa + 9b)


